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QUESTION 1

Which of the following modes can be used to implement DoS detection? (Choose two) 

A. Learning Mode 

B. Threshold Mode 

C. Configuration Mode 

D. Adaptive Mode 

E. Transition Mode 

Correct Answer: AB 

 

QUESTION 2

What type of encryption is used for file transfers between the Sensor and the Manager? 

A. SSL with RC4 

B. SSL with MD5 

C. SSL with RC4 and MD5 

D. DES 

Correct Answer: D 

 

QUESTION 3

Which of the following items can an ACL not match? 

A. Source IP address 

B. Destination IP address 

C. MAC address 

D. Protocol 

Correct Answer: A 

 

QUESTION 4

Why would attacks not be blocked when the Sensor monitoring ports are configured in SPAN mode? 

A. Blocking of attacks only occurs when the Sensor is placed in In-line mode 
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B. Blocking of attacks only occurs when the Sensor is placed in TAP mode 

C. The Sensor has not learned to identify these attacks 

D. Blocking of attacks only occurs when the Sensor has been configured for failover 

Correct Answer: A 

 

QUESTION 5

Setting a threshold on a sensor to react if traffic volume exceeds the threshold limit is an example of what specific
detection method? 

A. Signature based 

B. DHCP based 

C. Pattern matching 

D. Denial of Service (DoS) 

Correct Answer: D 
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